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(x2 O] Alg)=(x* 9] AlF)=0°] B2
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A=2x>-Tx>-4=B(2x-1)-T7x-2 o|t}.
2x3 —7x2 +7Tx-2=B(2x - 1)

HHE 2x -1 2 YA
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P=(2-1)(2+1)(2*
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a+b+c=0, a®>+b*>+c? =14 W, 4(a®b? +b?c? +c%a?) o] 727

1
@ @ 3 @1 @ 2 ® 3

o=

B ~

(a+b+c)?=a®+b?+c?+2(ab + be + ca)

1
", ab—i—bc—i—caz—i

4(a®b? + b%c? + c2a?)
= 4{(ab + bc + ca)? — 2abc(a + b + ¢)}

1 2
—“(‘5) =1




23. a+b+c=0,a®>+b*+c% =1L W, a®b? +b%c? + ?a?® O] 27
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@; @ ; ® 0 @ 1 ® 4
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a+b+c=1, ab+bc+ca=1, abc =1

ol W, (a+b)(b+c)(c+a)l] F2?

a+b+c=1°4
a+b=1-c¢c,b+c=1-a,c+a=1-b
(a+b)(b+c)(c+a)
=(1-)(1-a)(1-b)
=1-(a+b+c)+ (ab+ bc + ca) — abc
=1-1+1-1=0
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26. a>-b> =22 W, {(a+b)" + (a-b)")? - {(a+b)—(a-b)}>2
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(4 + 3)(42 + 32)(4% 4 3%) (48 + 3°)

= (4-3)(4+3)(4> + 37)(4* +34)(4° + 3%)
_ (42 _ 32)(42 + 32)(44 + 34)(48 + 38)

= (41 -3%)(4" +3%)(4° +3%)
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=(22-1)(22+1)(2*+ 1)(28 + 1)(2'6 + 1)

=2 -1+ 1)(28+1)(21 + 1)
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=232 _1
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=(3+1)(3>+1)--- (3192 +1)
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=(a*-1) (a* +1)
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@A7a7d @ olsuddd 0 FaAd
@ e O =4En9

(a+b-c)la—b+c)=bb+2c)+ (c+a)(c—a)lA
{a+ —c}{a— —c}=b2+2bc+c’2—a2

a’ - (b-c)? = -a® +b%+ 2 + 2bc

2a% = 2b% + 2c2

= b2 4 2
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34. a®+b*+c?=ab+bc+ca®li abc =1 L W, (a® + b + 3)% 9]
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@ 1 @ 4 @9 @ 16 ® 25
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ad+b+c3

= (a+b+c)(a®+b?+ c?—ab - bc - ca) + 3abc
=(a+b+c)x0+3abc=0+3-(1) =3

L@+ + )2 =9

a*>+b*+c?=ab+bc+caa®+b*+c?—(ab+bc+ca)=0
1
§(a—b)2+(b—c)2+(c—a)2} =0

a=b=c—oabc=a*=b=c*=1
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35. a+b+c=7,a2+b>+c%2=21,abc=8<Y W, a®b® + b2 + 2d?
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~&B ~

(@a+b+c)? =a?+ b+ ¢+ 2(ab + bc + ca)

49 = 21 + 2(ab + bc + ca)

" ab+bc+ca=14

a’b® + b%c? + c?a® = (ab + bc + ca)? - 2abc(a+ b + )
= (14)2 -2(8 x 7)
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dla+b+c)=20,a+b+c=5

V2 +b2+2=3,2+b*+c2=9

(B4Ylol) = 2(ab + bc + ca)
=(a+b+c)2-(@®+b+c2)
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x+y=2 x4y =149 o, x5 +y° 9] FtZ FoFH?

O 12 @ 32 ® 52 @82
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® 102

By = (2 +y?) (0 +5%) - Py (x+y) - (3)
x4y = (x+y)° - 3xy(x + )
© 14 =8 —6xy

P4y =(x+y)?2-2xy=4-2(-1)=6------ ©)
@, @, @2 (x)°fl dHUsHA
B+ =6x14-2=82
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B

a+b=1°Ab=1-a®l a2+ b2 =-1°B2
a?+(1-a)?=-1,2a>-2a+2=0,a>-a+1=0
o] 41| ol a + 12 ot
(a+1)(@®-a+1)=0,a>+1=0

Ze oz o

BP+1=00B2 43 =-1, b>=-1
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B
b=1-a5 d®+b? o tidste] F2jstA
a?-a+1=0(a+1)(a*-a+1)=0
ad+1=0 . a®=-1
REZRA] o= b3 = -1
2005 | p2005 — (g3)668 . 4 4 (pBY6OS . p = g 4 b =1
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x—y=1°Ay=x-1
OJAL x2 +y? = -1 YUstH
2x2-2x+2=0
X-x+1=0
FHoll x+1& FotH, x3+1=0
X =1
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22 +2y+2=0, 2 +y+1=0. y>=1
X104y = (33 x4 (33) Ly
= (-1 -x+1%-y
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(x+y+22=x>+y>+22+2(xy +yz+2%)
0=442(xy + yz + zx)
Cxy+yztzze=-2

(xy + yz + zx)?

= x%y? + y?2% + 22x% + 2(xy’z + xyz® + x%yz)
= x%y? + 3222 + 22x% + 2xyz(x + y + 2)
4=x%2+y?22+22x2 +0

oyt i 4 2 =4

(XQ +y2+22)2:x4 +y4 +Z4+2(x2y2 +y2z2 +22x2)
6=xt+yt+z4+2-4
Caxtyt =38




